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X4680
0 x 4680 = 0

1 x 4680 = 4680

2 x 4680 = 9360

3 x 4680 = 14040

4 x 4680 = 18720

5 x 4680 = 23400

6 x 4680 = 28080

7 x 4680 = 32760

8 x 4680 = 37440

9 x 4680 = 42120

10 x 4680 = 46800

11 x 4680 = 51480

12 x 4680 = 56160

13 x 4680 = 60840

14 x 4680 = 65520

15 x 4680 = 70200

16 x 4680 = 74880

17 x 4680 = 79560

18 x 4680 = 84240

19 x 4680 = 88920

20 x 4680 = 93600

21 x 4680 = 98280

22 x 4680 = 102960

23 x 4680 = 107640

24 x 4680 = 112320

25 x 4680 = 117000

26 x 4680 = 121680

27 x 4680 = 126360

28 x 4680 = 131040

29 x 4680 = 135720

30 x 4680 = 140400

31 x 4680 = 145080

32 x 4680 = 149760

33 x 4680 = 154440

34 x 4680 = 159120

35 x 4680 = 163800

36 x 4680 = 168480

37 x 4680 = 173160

38 x 4680 = 177840

39 x 4680 = 182520

40 x 4680 = 187200

41 x 4680 = 191880

42 x 4680 = 196560

43 x 4680 = 201240

44 x 4680 = 205920

45 x 4680 = 210600

46 x 4680 = 215280

47 x 4680 = 219960

48 x 4680 = 224640

49 x 4680 = 229320

50 x 4680 = 234000
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